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Q.1. Select the most appropriate
antonym of the given word.
MOROSE

(a) sullen

(b) cheerful

(c) unsatisfied

(d) mournful

Ans.(b) Sol. Morose: sullen and ill-tempered.

So, its antonym is cheerful.




Q.2 Select the most appropriate

antonym of the given word.
CORROBORATE
(a) confirm

(b) approve

(c) verify
(d) contradict

Ans.(d) Sol. Corroborate: confirm or give

support to (a statement, theory, or
findino)




Q.3 The children are too young to sit up

a long lecture.
(a) No improvement

(b) sit across

(c) sit away
(d) sit through

Ans.(d) Sol. Sit through: stay until the end of (a
tedious or lengthy meeting or performance).
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Q.4 Different-coloured natural food not only
put a smile on children’s faces and also benefit
their overall growth.

(a) benefit their overall growth
(b) and also benefit

(¢) Different coloured natural foods

(d) put a smile on children’s faces

Ans.(b) Sol. Replace “and also” with “but also”




Q.5 A. In a small town in England, there lived a poor little
girl.

B. She was very excited but her right shoe was worn out.

C. So, she went to a cobbler to get it mended.

D. Her friends invited her to come to her birthday party.

(a) DCAB (b) ACBD

(c) ADBC (d) CBAD

Ans. (¢) ADBC



Q.6 Select the correct indirect form of the given sentence.

I asked the shopkeeper, “What is the price of this bike?”

(a) I asked the shopkeeper that what the price of this bike
was.

(b) I asked the shopkeeper what is the price of the bike.

(c) I asked the shopkeeper what was the price of that bike.

(d) I asked the shopkeeper what the price of that bike was.

Ans. (d) I asked the shopkeeper
what the price of that bike

W79 €



Q.7 Select the most appropriate

synonym of the given word.
EMBED

(a) pull
(b) bury
(¢) dig up
(d) rise

Ans.(b) Embed: fix (an object) firmly and deeply in a
surrounding mass. Bury: put or hide

underground.



Q.8 Select the most appropriate meaning
of the given idiom.

As clear as mud

(a) extremely dirty

(b) honest and legal

(c) impossible to understand

(d) completely suitable for someone

Ans.(¢c) Sol. As clear as mud: not at all easy to

understand
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Q.9 1 try to avoid travel in the rush hour.

(a) travelling in

(b) No improvement
(c) to travel at
(d) travelling on

Ans.(a) Sol. Certain verbs like avoid, can’t help,

and consider etc. take gerund form of verb




Q.10 The Cannes Film Festival attract

some of the world’s most famous people.

(a) the world’s
(b) the Cannes film Festival

(c) attract some of

(d) most famous people

Ans.(c) Sol. Singular noun takes singular verb. Use

“attracts some of”’ instead of “attract some of”.



Q.11 Select the most appropriate

synonym of the given word.
COMBUSTIBLE

(a) nonexplosive

(b) fragile

(c) unbreakable

(d) inflammable

Ans.(d) Sol. Combustible: able to catch fire and burn
easily.

Inflammable: easily set on fire.



Q.12 Select the most appropriate meaning

of the given idiom.
Spill the beans
(a) create difficulty

(b) make an excuse

(c) reveal a secret

(d) frighten someone

Ans.(¢) Sol. Spill the beans means to reveal a secret.




Q.13 A large impressive house

(a) mansion
(b) cabin
(¢) shack
(d) fort

Ans.(a) Sol. Shack: a roughly built hut or cabin.
Fort: a fortified building or strategic position.
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Q.14 Select the wrongly spelt word.

(a) emphasis
(b) emporium

(¢) emmision

(d) emolument

Ans.(c) Sol. Emission: the production and discharge
of something, especially gas or radiation.
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Q.15 If you had (a)/ just hinted at your
difficulty (b)/ I would most certainly

help you. (¢)/ No error. (d)

A. If you had

B. just hinted at your difficulty

C. I would most certainly help you.

D. No error.

Answer: (c) would have most certainly helped you.






Bill gates is the second-richest (1) in the

world. He is (2) an estimated $103 Billion. His
wealth (3) only by Jeff Bezos, (4) has a
current net worth of $116 billion. Gates is

(5) rich that an average American

spending $1 is similar to Gates spending $1.06 million.
Q.16 Select the most appropriate option for blank
No.1

(a) Person (b) personnel

(¢) Character (d) huierrect Answer: (a) Person



Bill gates is the second-richest (1) in the

world. He is (2) an estimated $103 Billion. His
wealth (3) only by Jeff Bezos, (4)--————- has a

current net worth of $116 billion. Gates is

3) rich that an average American

spending $1 is similar to Gates spending $1.06 million.
Q.17 Select the most appropriate option for blank No.
2.

(a) Classed (b) worth

(c) Valuable (d) costCorrect Answer: (b) worth



MISSION SELECTION SSC 2024

Bill gates is the second-richest (1) in the
world. He is (2) an estimated $103 Billion. His
wealth (3) only by Jeff Bezos, (4)-—— has a

current net worth of $116 billion. Gates is

3) rich that an average American

spending $1 is similar to Gates spending $1.06 million.
Q.18 Select the most appropriate option for blank No.
3

(a) is surpassed (b) surpasses

(c) is surpassing (d) Suvpassed Answer:  (a) s

enrnassed




Bill gates is the second-richest (1) in the

world. He is (2) an estimated $103 Billion. His
wealth (3) only by Jeff Bezos, (4)——— has a
current net worth of $116 billion. Gates is (5)

rich that an average American spending $1 is similar

to Gates spending $1.06 million.

Q.19 Select the most appropriate option for blank No.
4.

(a) Which (b) whose
(c) Whom (DEhQct Answer: (d) who



Bill gates is the second-richest (1) in the

world. He is (2) an estimated $103 Billion. His
wealth (3) only by Jeff Bezos, (4)-— has a
current net worth of $116 billion. Gates is (5)

rich that an average American spending $1 is similar

to Gates spending $1.06 million.

Q.20 Select the most appropriate option for blank No.
S.

(a) So (b) too

(c) As (d) suélgrrect Answer: (a) So
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Q.21 The main purpose of the visit (1)/ is to

develop a close relationship (2)/ among the two
countries. (3)/ No error (4)

Answer: (¢) For two persons or things
between ....... should be used.




Q.22 Here is something pretty (A)/ that you
can (B)/ wear on the party. (C)/ No error (D)

Answer: (c¢) It is an error of Preposition. Hence,
wear in the party is the right usage.
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Q.23 Still (1)/ waters (2)/ run deep. (3)/ No error (4)
a) waters

b) run deep.
¢) Still

d) No error

Answer: (d) Still waters run deep = a person
who seems to be quiet or shy may
surprise you by knowing a lot or having
deep feelings.
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Q.24 1 had invited (1)/ all my sister-in-laws (2)/ to
my son’s birthday party. (3)/ No error (4)

a) all my sister-in-laws

b) to my son’s birthday party.
¢) I had invited

d) No error

Answer: (a)
Sister-in-law (Singular)
Sisters-in-law (Plural)
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Q.25 Madhu lived in Mumbai / since 1970 to
1985, / but is now living in Chennai. / No error
a) since 1970 to 1985,

b) but is now living in Chennai.
¢) Madhu lived in Mumbai

d) No error

Answer: (a) From is used to show when
something starts and also the range of
something.

Hence. from 1970 to 1985 is the richt usace
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Home Work

—/

I will have (1)/ both the blue (2)/ or
the black pen. (3)/ No error. (4)

a) both the blue

b) or the black pen.

¢) I will have

d) No error.







